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GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING — SEMESTER -VI + EXAMINATION — WINTER 2015

Subject Name: Modern Spinning Technology

Time: 02:30 PM TO 05:00 PM
Instructions:
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Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.
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Answer any seven out of ten.
gaHiel SlURL Alcloll scllol AL,
Write down any two limitations of ring frame machine.

RBatzH Hallotoll 818 Wl A HATERA AL

Enlist the different open end spinning systems.

el el UslRe(l 3 Uet Wos RU[ADL UglA Al

Where is the draft given in rotor spinning machine?

A2 Rl HallodHl sl sl $Ls2 UCUHL ALA BD?

Which spinning system has highest twist imparting capacity? Why?

58 RALL ugld AUl atlR an etme salloll aidl YRLd B? 312
Write down the name of spinning systems working on false twist principle.
slcd 2lAreell Rgid uR st sl RUAoL uglaxlletl ot Avll.
What is the raw material requirement and delivery speed of Repco spinning?
18l RAAoIHE 33 A URIlad U Bellaledl Bsu 9 &2

Why the strength of friction spun yarn is lower than that of rotor spun yarn?
($52l01 RUat Alololl HAYALE A2R ol Ulel scll FH WYl A B?
Compare any two properties of rotor spun yarn with ring spun yarn.

A2R Wet 2leloll 818 Ul A NUERA A (391 Auetl 2Alel WA MWL
What is the range of count and draft for rotor spinning machine?

A2 RUML Hallot MR 51602 W glseoll e 9] &2

In which spinning system only synthetic fibres can be used?

585 RA[OL uglHl HIot ReDEls 21N GUADL UL B?

Explain the advantages and disadvantages of open end spinning.
U Uot Wos RUAILGHL SIAEL U ARFLAEL AHBLC.

OR
Explain the following term and its effect on rotor yarn.
(1) Back doubling  (2) Wrapper fibers

ol Aol UE A A22 2ol UR Wofl AA AHLA.
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(1) As socllol (2) UR slauo
Explain any three modern developments in Card.
sLSHL AAA 518 UL ARl YEls [Ast Al

OR
Explain the Dref-2 spinning system with neat sketch.

35-2 RU(AoL ugcll A sl AUt UM

Explain the spinning system working on wrap spinning principle with neat
sketch.

U RAASL ol Rgid UR stH 5l RAGDL usdlal vusld U@

sl

OR
Explain the Dref-3 spinning system with neat sketch.

35-3 RU[AoL ugcll A vusld WEA uHesal
Explain any four modern developments in Blow room.
GAl-3HHL UAA 18 URL AR BYEs (Asty AU

OR
Explain the Bobtex process with neat sketch.

oozl YBal A vusld uldd Al

Calculate the back doubling and number of fibers in yarn cross-section from
the following data:

(1) Rotor dia.= 35 mm (2) TPM = 700 (3) Ne = 18 (4) Micronaire = 4.5
oA A (Qotcl uRell As soiellol Wal lololl SlU-ASAAHL

le{l Avatell oLl s2A.
(1)RAeRell calld=3U mm ()L ULAM. =900 (3 )52t 51G2=¢

(¥ )HIBS AU =%.U

OR
Calculate the production of rotor spinning machine in Kg/Shift/m/c from the
given data:
(1) Rotor speed: 80000 rpm, (2) TPM: 630, (3) Ne: 14, (4)Efficiency: 92%,
(5)No. of positions : 280

oA A (Qotcl uRell AR Hallote] Geuleat Kg/Shift/m/c ol AsH
Yolloui 208,
(2)RAeRe{l oUA:¢0000 rpm, ()AL ULAM.:S30, (3)Slest s1G2=1%,

(¥)slAaHdl:c%, (1) AeR ol vl : ¢o

Explain the principle of yarn formation in rotor spinning machine with neat
sketch.

A2 RAlAot HallotHi 2ol ctotclloll Rgical sl Uldc UMt
Explain the twillo process with neat sketch.

allcl ulsal o vuslQ U umesal.

Explain Electrostatic spinning with neat sketch.

sAs22ls RUAL o As(A UG UMesLAl.
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